
  

P1=1,2atm
V 1=1,7 L

T 1=23ºC=296 K

P 2 = ?
V 2=V 1

T 1=40 ºC=313K

(a)

P1⋅V 1

T 1

=
P2⋅V 2

T 2

→
P1

T 1

=
P 2

T 2

→ P 2=T 2

P1

T 1

P1=1,2atm
V 1=1,7 L

T 1=23ºC=296 K

P 2=P 1

V 2 = ?
T 1=−195ºC=78K

P1⋅V 1

T 1

=
P2⋅V 2

T 2

→
V 1

T 1

=
V 2

T 2

→ V 2=T 2

V 1

T 1

(b)

P1=1,2atm
V 1=1,7 L

T 1=23ºC=296 K

P 2=0,78atm
V 2 = ?
T 1=T 2

P1⋅V 1

T 1

=
P2⋅V 2

T 2

→ P1⋅V 1=P2⋅V 2 → V 2=
P1⋅V 1

P 2

(c)

P1⋅V 1

T 1

=
P2⋅V 2

T 2

Utilitzem la llei dels gasos

P1⋅V 1

T 1

=
P2⋅V 2

T 2

Utilitzem la llei dels gasos

P1⋅V 1

T 1

=
P2⋅V 2

T 2

Utilitzem la llei dels gasos

P2=313K
1,2atm
296 K

=1,26 atm

V 2=78K
1,7 L
296 K

=0,45 L

V 2=
1,2atm⋅1,7 L

0,78atm
=2,6 L


	Slide 18

